# A NOTE ON THE MATRIX ARITHMETIC-GEOMETRIC MEAN INEQUALITY\*

### TENG ZHANG $^{\dagger}$

**Abstract.** This note proves the following inequality: If n = 3k for some positive integer k, then for any n positive definite matrices  $A_1, A_2, \ldots, A_n$ , the following inequality holds:

$$\frac{1}{n^3} \left\| \sum_{j_1, j_2, j_3=1}^n \mathbf{A}_{j_1} \mathbf{A}_{j_2} \mathbf{A}_{j_3} \right\| \ge \frac{(n-3)!}{n!} \left\| \sum_{\substack{j_1, j_2, j_3=1, \\ j_1, j_2, j_3 = 1, \\ j_2, j_3 = 1, \\ j_1, j_2, j_3 = 1, \\ j_1, j_2, j_3 = 1, \\ j_1, j_2, j_3 = 1, \\ j_2, j_3 = 1, \\ j_1, j_2, j_3 = 1, \\ j_2, j_3 = 1, \\ j_3 = 1, \\ j_1, j_2, j_3 = 1, \\ j_1, j_2, j_3 = 1, \\ j_2, j_3 = 1, \\ j_1, j_2, j_3 = 1, \\ j_2, j_3 = 1, \\ j_1, j_2, j_3 = 1, \\ j_2, j_3 = 1, \\ j_3 = 1, \\ j_1, j_2, j_3 = 1, \\ j_1, j_2, j_3 = 1, \\ j_2, j_3 = 1, \\ j_1, j_2, j_3 = 1, \\ j_2, j_3 = 1, \\ j_1, j_2, j_3 = 1, \\ j_2, j_3 = 1, \\ j_3 = 1, \\ j_1, j_2, j_3 = 1, \\ j_1, j_2, j_3 = 1, \\ j_2, j_3 = 1, \\ j_1, j_2, j_3 = 1, \\ j_2, j_3 = 1, \\ j_1, j_2, j_3 = 1, \\ j_2, j_3 = 1, \\ j_1, j_2, j_3 = 1, \\ j_2, j_3 = 1, \\ j_1, j_2, j_3 = 1, \\ j_2, j_3 = 1, \\ j_3 = 1, \\ j_1, j_2, j_3 = 1, \\ j_2, j_3 = 1, \\ j_3 = 1, \\ j_1, j_2, j_3 = 1, \\ j_2, j_3 = 1, \\ j_3 = 1, \\ j_1, j_2, j_3 = 1, \\ j_2, j_3 = 1, \\ j_3 = 1, \\ j_1, j_2, j_3 = 1, \\ j_2, j_3 = 1, \\ j_3 = 1, \\ j_1, j_2, j_3 = 1, \\ j_2, j_3 = 1, \\ j_3 = 1, \\ j_1, j_2, j_3 = 1, \\ j_2, j_3 = 1, \\ j_3 = 1, \\ j_1, j_2, j_3 = 1, \\ j_2, j_3 = 1, \\ j_3 = 1, \\ j_1, j_2 = 1, \\ j_2, j_3 = 1, \\ j_3 = 1, \\ j_$$

where  $\|\cdot\|$  represents the operator norm. This inequality is a special case of a recent conjecture proposed by Recht and Ré (2012).

Key words. Positive definite matrices, Matrix inequalities.

AMS subject classifications. 15A42, 15A60, 47A30.

**1. Introduction.** The classical arithmetic-geometric mean inequality asserts that when  $a_1, a_2, \ldots, a_n$  are positive numbers, then  $\frac{1}{n}(\sum_{i=1}^n a_i) \ge (\prod_{i=1}^n a_i)^{\frac{1}{n}}$ . This inequality has been generalized from the case of n positive scalars to the case of n positive-definite matrices in various works (see [1, 2, 3, 6, 7]).

Recently, Recht and Ré [8] conjectured another generalization of the arithmetic-geometric mean inequality, which is formulated differently from the inequalities proved in previous works. The conjecture is as follows: For *n* positive definite matrices  $\{\mathbf{A}_i\}_{i=1}^n$ , the following inequality holds:

(1.1) 
$$\frac{1}{n^m} \left\| \sum_{j_1,\dots,j_m=1}^n \mathbf{A}_{j_1} \mathbf{A}_{j_2} \cdots \mathbf{A}_{j_m} \right\| \ge \frac{(n-m)!}{n!} \left\| \sum_{\substack{j_1,\dots,j_m=1,\\j_1,\dots,j_m \text{ all distinct}}}^n \mathbf{A}_{j_1} \mathbf{A}_{j_2} \cdots \mathbf{A}_{j_m} \right\|.$$

Here  $\|\cdot\|$  represents the operator norm, i.e., the largest singular value. Recht and Ré showed that, if this inequality holds, then the randomized coordinate descent algorithm without replacement sampling converges faster than the version with replacement sampling for both least mean squares and randomized Kaczmarz algorithms.

While the conjecture has been proved in [8, Proposition 3.2] for the special case n = m = 2, to the best of our knowledge, the conjecture for other cases remains open.

Inspired by the analysis of randomized algorithm, a very similar conjecture was proposed in [4], which is formulated as

$$\frac{1}{n^m}\sum_{j_1,\ldots,j_m=1}^n \left\|\mathbf{A}_{j_1}\mathbf{A}_{j_2}\cdots\mathbf{A}_{j_m}\right\| \geq \frac{(n-m)!}{n!}\sum_{\substack{j_1,\ldots,j_m=1,\\j_1,\ldots,j_m \text{ all distinct}}}^n \left\|\mathbf{A}_{j_1}\mathbf{A}_{j_2}\cdots\mathbf{A}_{j_m}\right\|.$$

For this conjecture, the case m = 3 has been proved recently in [5]. However, the conjecture is different from

<sup>\*</sup>Received by the editors on June 2, 2017. Accepted for publication on February 20, 2018. Handling Editor: Fuad Kittaneh.

<sup>&</sup>lt;sup>†</sup>Department of Mathematics, University of Central Florida, Orlando, FL 32654, USA (teng.zhang@ucf.edu).

Teng Zhang



284

(1.1) since both LHS and RHS are the sum of operator norms, and the technique used in the proof is not extendable to the proof of (1.1).

The main contribution of this note is a proof of the conjecture (1.1) when m = 3 and n = 3k for any integer k > 1. The rest of the paper is organized as follows. In Section 2, we prove the conjecture for n = m = 3. Section 3 generalizes the result to the case m = 3 and n = 3k. Section 4 discusses other settings such as m = 4 and some interesting open problems related to the conjecture.

### 2. The proof of the conjecture when n, m = 3.

**2.1. Reduction of the conjecture.** In the note, we write  $A \ge B$  or  $B \le A$  if A - B is positive semidefinite. To prove

(2.2) 
$$\frac{1}{n^3} \left\| \sum_{j_1, j_2, j_3 = 1}^n \mathbf{A}_{j_1} \mathbf{A}_{j_2} \mathbf{A}_{j_3} \right\| \ge \frac{(n-3)!}{n!} \left\| \sum_{\substack{j_1, j_2, j_3 = 1, \\ j_1, j_2, j_3 \text{ all distinct}}}^n \mathbf{A}_{j_1} \mathbf{A}_{j_2} \mathbf{A}_{j_3} \right\|$$

WLOG we may assume  $\|\sum_{j=1}^{n} \mathbf{A}_{j}\| = 1$ , which implies

(2.3) 
$$\sum_{j=1}^{n} \mathbf{A}_{j} \leq \mathbf{I}.$$

Then the LHS of (1.1) is  $1/n^m$  and it suffices to prove

(2.4) 
$$-\frac{1}{n^m}\mathbf{I} \leq \mathbb{E}[\mathbf{A}_{i_1}\mathbf{A}_{i_2}\cdots\mathbf{A}_{i_m}] \leq \frac{1}{n^m}\mathbf{I},$$

where  $\mathbb{E}[\mathbf{A}_{i_1}\mathbf{A}_{i_2}\cdots\mathbf{A}_{i_m}]$  represents the expected value of  $\mathbf{A}_{i_1}\mathbf{A}_{i_2}\cdots\mathbf{A}_{i_m}$  in the probability space that the *n*-tuple  $\{i_1, i_2, \ldots, i_n\}$  is sampled randomly from all permutations of  $\{1, 2, \ldots, n\}$ .

**2.2.** Proof of the upper bound. In this section, we will prove the second inequality in (2.4) when n, m = 3, i.e., the upper bound of  $\mathbb{E}[\mathbf{A}_{i_1}\mathbf{A}_{i_2}\cdots\mathbf{A}_{i_m}]$ . The proof is based on the following lemmas, and their proofs are deferred to Sections 2.4 and 2.5.

LEMMA 2.1. For symmetric matrices  $\mathbf{A}, \mathbf{B} \in \mathbb{R}^{p \times p}$ , and any positive semidefinite matrix  $\mathbf{C} \in \mathbb{R}^{p \times p}$ ,

# $\mathbf{ACA} + \mathbf{BCB} \geq \mathbf{ACB} + \mathbf{BCA}.$

LEMMA 2.2. If A, B and C are symmetric matrices of the same size and  $A \leq B$ , then

$$CAC \leq CBC$$

To prove the upper bound of  $\mathbb{E}[\mathbf{A}_{i_1}\mathbf{A}_{i_2}\mathbf{A}_{i_3}]$ , first we apply Lemma 2.1 and obtain

(2.5) 
$$\mathbf{A}_{i_1}\mathbf{A}_{i_2}\mathbf{A}_{i_3} + \mathbf{A}_{i_3}\mathbf{A}_{i_2}\mathbf{A}_{i_1} \le \mathbf{A}_{i_1}\mathbf{A}_{i_2}\mathbf{A}_{i_1} + \mathbf{A}_{i_3}\mathbf{A}_{i_2}\mathbf{A}_{i_3}$$

Applying (2.5), we have

(2.6)  

$$\mathbb{E}[\mathbf{A}_{i_1}\mathbf{A}_{i_2}\mathbf{A}_{i_3}] = \frac{1}{2}\mathbb{E}[\mathbf{A}_{i_1}\mathbf{A}_{i_2}\mathbf{A}_{i_3} + \mathbf{A}_{i_3}\mathbf{A}_{i_2}\mathbf{A}_{i_1}]$$

$$\leq \frac{1}{4}\mathbb{E}[\mathbf{A}_{i_1}\mathbf{A}_{i_2}\mathbf{A}_{i_3} + \mathbf{A}_{i_3}\mathbf{A}_{i_2}\mathbf{A}_{i_1} + \mathbf{A}_{i_1}\mathbf{A}_{i_2}\mathbf{A}_{i_1} + \mathbf{A}_{i_3}\mathbf{A}_{i_2}\mathbf{A}_{i_3}]$$

$$= \frac{1}{4}\mathbb{E}[(\mathbf{A}_{i_1} + \mathbf{A}_{i_3})\mathbf{A}_{i_2}(\mathbf{A}_{i_1} + \mathbf{A}_{i_3})],$$

285

### A Note on the Matrix Arithmetic-Geometric Mean Inequality

where the inequality is obtained by taking the expectation to both LHS and RHS of (2.5).

On the other hand, since  $\mathbf{A}_{i_1} + \mathbf{A}_{i_3} \leq \mathbf{I} - \mathbf{A}_{i_2}$  (which follows from (2.3)), Lemma 2.2 implies

(2.7) 
$$(\mathbf{A}_{i_1} + \mathbf{A}_{i_3}) \mathbf{A}_{i_2} (\mathbf{A}_{i_1} + \mathbf{A}_{i_3}) \leq (\mathbf{A}_{i_1} + \mathbf{A}_{i_3}) (\mathbf{I} - (\mathbf{A}_{i_1} + \mathbf{A}_{i_3})) (\mathbf{A}_{i_1} + \mathbf{A}_{i_3}).$$

Since  $\mathbf{A}_{i_1} + \mathbf{A}_{i_3}$  and  $\mathbf{I} - (\mathbf{A}_{i_1} + \mathbf{A}_{i_3})$  are simultaneously diagonalizable and their eigenvalues are between 0 and 1, applying  $\max_{0 \le a \le 1} a^2(1-a) = 4/27$ , we have

(2.8) 
$$(\mathbf{A}_{i_1} + \mathbf{A}_{i_3}) (\mathbf{I} - (\mathbf{A}_{i_1} + \mathbf{A}_{i_3})) (\mathbf{A}_{i_1} + \mathbf{A}_{i_3}) \leq \frac{4}{27} \mathbf{I}.$$

The upper bound of  $\mathbb{E}[\mathbf{A}_{i_1}\mathbf{A}_{i_2}\mathbf{A}_{i_3}]$  in (2.4) is then proved by combining (2.6), (2.7), and (2.8).

**2.3.** Proof of the lower bound. In this section, we will prove the first inequality in (2.4) when n, m = 3, i.e., the lower bound of  $\mathbb{E}[\mathbf{A}_{i_1}\mathbf{A}_{i_2}\cdots\mathbf{A}_{i_m}]$ .

To prove the lower bound of  $\mathbb{E}[\mathbf{A}_{i_1}\mathbf{A}_{i_2}\mathbf{A}_{i_3}]$  in (2.4), we apply Lemma 2.1 by plugging in  $\mathbf{A} = \mathbf{A}_{i_1}, \mathbf{B} = -\mathbf{A}_{i_3}$ , and  $\mathbf{C} = \mathbf{A}_{i_2}$ :

(2.9) 
$$-\mathbf{A}_{i_1}\mathbf{A}_{i_2}\mathbf{A}_{i_3}-\mathbf{A}_{i_3}\mathbf{A}_{i_2}\mathbf{A}_{i_1}\leq \mathbf{A}_{i_1}\mathbf{A}_{i_2}\mathbf{A}_{i_1}+\mathbf{A}_{i_3}\mathbf{A}_{i_2}\mathbf{A}_{i_3}.$$

Similar to (2.6), applying (2.9) we have

(2.10) 
$$\mathbb{E}[-\mathbf{A}_{i_1}\mathbf{A}_{i_2}\mathbf{A}_{i_3}] = \frac{1}{2}\mathbb{E}[-\mathbf{A}_{i_1}\mathbf{A}_{i_2}\mathbf{A}_{i_3} - \mathbf{A}_{i_3}\mathbf{A}_{i_2}\mathbf{A}_{i_1}]$$
$$\leq \frac{1}{4}\mathbb{E}[-\mathbf{A}_{i_1}\mathbf{A}_{i_2}\mathbf{A}_{i_3} - \mathbf{A}_{i_3}\mathbf{A}_{i_2}\mathbf{A}_{i_1} + \mathbf{A}_{i_1}\mathbf{A}_{i_2}\mathbf{A}_{i_1} + \mathbf{A}_{i_3}\mathbf{A}_{i_2}\mathbf{A}_{i_3}]$$
$$= \frac{1}{4}\mathbb{E}[(\mathbf{A}_{i_1} - \mathbf{A}_{i_3})\mathbf{A}_{i_2}(\mathbf{A}_{i_1} - \mathbf{A}_{i_3})].$$

Therefore, to prove the lower bound in (2.4), it suffices to show

(2.11) 
$$\mathbb{E}[(\mathbf{A}_{i_1} - \mathbf{A}_{i_3})\mathbf{A}_{i_2}(\mathbf{A}_{i_1} - \mathbf{A}_{i_3})] \leq \frac{4}{27}\mathbf{I}$$

To prove (2.11), we let  $\mathbf{D} = (\mathbf{I} - \mathbf{A}_1 - \mathbf{A}_2 - \mathbf{A}_3)/3$  and  $\tilde{\mathbf{A}}_i = \mathbf{A}_i$  for i = 1, 2, 3. Then by Lemma 2.2,

(2.12) 
$$\mathbb{E}[(\mathbf{A}_{i_1} - \mathbf{A}_{i_3})\mathbf{A}_{i_2}(\mathbf{A}_{i_1} - \mathbf{A}_{i_3})] \le \mathbb{E}[(\tilde{\mathbf{A}}_{i_1} - \tilde{\mathbf{A}}_{i_3})\tilde{\mathbf{A}}_{i_2}(\tilde{\mathbf{A}}_{i_1} - \tilde{\mathbf{A}}_{i_3})]$$

Since

$$(\tilde{\mathbf{A}}_{i_1} - \tilde{\mathbf{A}}_{i_3})\tilde{\mathbf{A}}_{i_2}(\tilde{\mathbf{A}}_{i_1} - \tilde{\mathbf{A}}_{i_3}) = 2\tilde{\mathbf{A}}_{i_1}\tilde{\mathbf{A}}_{i_2}\tilde{\mathbf{A}}_{i_1} + 2\tilde{\mathbf{A}}_{i_3}\tilde{\mathbf{A}}_{i_2}\tilde{\mathbf{A}}_{i_3} - (\tilde{\mathbf{A}}_{i_1} + \tilde{\mathbf{A}}_{i_3})\tilde{\mathbf{A}}_{i_2}(\tilde{\mathbf{A}}_{i_1} + \tilde{\mathbf{A}}_{i_3})$$

and

$$\mathbb{E}[2\tilde{\mathbf{A}}_{i_1}\tilde{\mathbf{A}}_{i_2}\tilde{\mathbf{A}}_{i_1} + 2\tilde{\mathbf{A}}_{i_3}\tilde{\mathbf{A}}_{i_2}\tilde{\mathbf{A}}_{i_3}] = \mathbb{E}[2\tilde{\mathbf{A}}_{i_2}(\tilde{\mathbf{A}}_{i_1} + \tilde{\mathbf{A}}_{i_3})\tilde{\mathbf{A}}_{i_2}]$$

we have

$$\mathbb{E}[(\tilde{\mathbf{A}}_{i_1} - \tilde{\mathbf{A}}_{i_3})\tilde{\mathbf{A}}_{i_2}(\tilde{\mathbf{A}}_{i_1} - \tilde{\mathbf{A}}_{i_3})] \\ = \mathbb{E}[2\tilde{\mathbf{A}}_{i_1}\tilde{\mathbf{A}}_{i_2}\tilde{\mathbf{A}}_{i_1} + 2\tilde{\mathbf{A}}_{i_3}\tilde{\mathbf{A}}_{i_2}\tilde{\mathbf{A}}_{i_3} - (\tilde{\mathbf{A}}_{i_1} + \tilde{\mathbf{A}}_{i_3})\tilde{\mathbf{A}}_{i_2}(\tilde{\mathbf{A}}_{i_1} + \tilde{\mathbf{A}}_{i_3})] \\ = \mathbb{E}[2\tilde{\mathbf{A}}_{i_2}(\tilde{\mathbf{A}}_{i_1} + \tilde{\mathbf{A}}_{i_3})\tilde{\mathbf{A}}_{i_2} - (\tilde{\mathbf{A}}_{i_1} + \tilde{\mathbf{A}}_{i_3})\tilde{\mathbf{A}}_{i_2}(\tilde{\mathbf{A}}_{i_1} + \tilde{\mathbf{A}}_{i_3})]$$
(2.13)

Teng Zhang

Applying the fact that  $\tilde{\mathbf{A}}_1 + \tilde{\mathbf{A}}_2 + \tilde{\mathbf{A}}_3 = \mathbf{I}$ , we have

(2.14)  

$$\mathbb{E}[2\tilde{\mathbf{A}}_{i_{2}}(\tilde{\mathbf{A}}_{i_{1}}+\tilde{\mathbf{A}}_{i_{3}})\tilde{\mathbf{A}}_{i_{2}}-(\tilde{\mathbf{A}}_{i_{1}}+\tilde{\mathbf{A}}_{i_{3}})\tilde{\mathbf{A}}_{i_{2}}(\tilde{\mathbf{A}}_{i_{1}}+\tilde{\mathbf{A}}_{i_{3}})] \\
=\mathbb{E}[2\tilde{\mathbf{A}}_{i_{2}}(\mathbf{I}-\tilde{\mathbf{A}}_{i_{2}})\tilde{\mathbf{A}}_{i_{2}}-(\mathbf{I}-\tilde{\mathbf{A}}_{i_{2}})\tilde{\mathbf{A}}_{i_{2}}(\mathbf{I}-\tilde{\mathbf{A}}_{i_{2}})] \\
=\mathbb{E}[-\tilde{\mathbf{A}}_{i_{2}}+4\tilde{\mathbf{A}}_{i_{2}}^{2}-3\tilde{\mathbf{A}}_{i_{2}}^{3}] = \frac{4}{27}\mathbf{I}+\mathbb{E}\left[-\frac{13}{9}\tilde{\mathbf{A}}_{i_{2}}+4\tilde{\mathbf{A}}_{i_{2}}^{2}-3\tilde{\mathbf{A}}_{i_{2}}^{3}\right]$$

where the last step applies  $\mathbb{E}[\tilde{\mathbf{A}}_{i_2}] = \frac{1}{3}\mathbf{I}$ . Since  $\max_{0 \le x \le 1} - \frac{13}{9}x + 4x^2 - 3x^3 = 0$  and the eigenvalues of  $\tilde{\mathbf{A}}_i$  lie in [0, 1], we have

$$-\frac{13}{9}\tilde{\mathbf{A}}_{i_2}+4\tilde{\mathbf{A}}_{i_2}^2-3\tilde{\mathbf{A}}_{i_2}^3\leq\mathbf{0}.$$

Combining it with (2.12), (2.13) and (2.14), (2.11) is proved and therefore the lower bound in (2.4) is proved.

**2.4. Proof of Lemma 2.1.** The difference of its LHS and RHS can be written as the product of a matrix with its transpose:

$$\mathbf{ACA} + \mathbf{BCB} - \mathbf{ACB} - \mathbf{BCA} = (\mathbf{A} - \mathbf{B})\mathbf{C}(\mathbf{A} - \mathbf{B}) = \left((\mathbf{A} - \mathbf{B})\mathbf{C}^{0.5}\right)\left((\mathbf{A} - \mathbf{B})\mathbf{C}^{0.5}\right)^{T},$$

which is clearly positive semidefinite.

**2.5.** Proof of Lemma 2.2. Since  $\mathbf{B} - \mathbf{A}$  is positive semidefinite, we can assume  $\mathbf{B} - \mathbf{A} = \mathbf{H}\mathbf{H}^T$  for some matrix  $\mathbf{H}$ . Then  $\mathbf{CBC} - \mathbf{CAC} = \mathbf{C}(\mathbf{B} - \mathbf{A})\mathbf{C} = (\mathbf{CH})(\mathbf{CH})^T$  is also positive semidefinite.

**3. Generalization to** n = 3k. It is possible to extend the proof from the case n = m = 3 to the cases where m = 3 and n = 3k for any positive integer k. The proof follows directly from the following lemma.

LEMMA 3.1. If (2.4) holds for  $(n,m) = (n_0,m_0)$ , then it also holds for  $(n,m) = (k n_0,m_0)$  with any positive integer k.

*Proof.* If  $n = kn_0$  and  $m = m_0$ , then

$$\mathbb{E}[\mathbf{A}_{i_1}\mathbf{A}_{i_2}\cdots\mathbf{A}_{i_m}] = \frac{1}{k^m} \mathbb{E}\Big[\sum_{j=1}^k \mathbf{A}_{i_j} \cdot \sum_{j=k+1}^{2k} \mathbf{A}_{i_j} \cdot \sum_{j=2k+1}^{3k} \mathbf{A}_{i_j} \cdots \sum_{j=(m-1)k+1}^{mk} \mathbf{A}_{i_j}\Big]$$
  
(3.15) 
$$= \frac{1}{k^m} \mathbb{E}\Big[\mathbb{E}_{l_1,l_2,\dots,l_{n_0}}\Big[\sum_{j=(l_1-1)k+1}^{l_1k} \mathbf{A}_{i_j} \cdot \sum_{j=(l_2-1)k+1}^{l_2k} \mathbf{A}_{i_j} \cdot \sum_{j=(l_3-1)k+1}^{l_3k} \mathbf{A}_{i_j} \cdots \sum_{j=(l_m-1)k+1}^{l_mk} \mathbf{A}_{i_j}\Big]\Big],$$

where  $\{l_1, l_2, \ldots, l_{n_0}\}$  is a random permutation of  $\{1, 2, \ldots, n_0\}$ .

Apply (2.4) with  $(n,m) = (n_0,m_0)$  to  $n_0$  positive definite matrices  $\{\sum_{j=(l-1)k+1}^{lk} \mathbf{A}_{i_j}\}_{l=1}^{n_0}$ , we have

(3.16) 
$$-\frac{1}{n_0^m} \mathbf{I} \leq \mathbb{E}_{l_1, l_2, \dots, l_{n_0}} \Big[ \sum_{j=(l_1-1)k+1}^{l_1k} \mathbf{A}_{i_j} \cdot \sum_{j=(l_2-1)k+1}^{l_2k} \mathbf{A}_{i_j} \cdot \sum_{j=(l_3-1)k+1}^{l_3k} \mathbf{A}_{i_j} \cdots \sum_{j=(l_m-1)k+1}^{l_mk} \mathbf{A}_{i_j} \Big] \leq \frac{1}{n_0^m} \mathbf{I}.$$

Combining (3.15) and (3.16), we proved (2.4) for  $(n, m) = (k n_0, m_0)$ .

We remark that since the conjecture for (n, m) = (2, 2) has been proved in [8, Proposition 3.2], Lemma 3.1 also implies that the conjecture when (n, m) = (2k, 2), i.e., when n is even and m = 2.

286

### A Note on the Matrix Arithmetic-Geometric Mean Inequality

4. Discussion. Having proved the case n = m = 3, a natural next step is to prove the case n = m = 4. The basic idea in this paper is to divide  $\sum_{j_1,\ldots,j_m \text{ all distinct}}^n \mathbf{A}_{j_1}\mathbf{A}_{j_2}\cdots\mathbf{A}_{j_m}$  into several parts and find the bounds of each parts. For example, in Section 2.2, we prove the upper bound in (2.4) by finding the upper bounds of  $\mathbf{A}_2\mathbf{A}_1\mathbf{A}_3 + \mathbf{A}_3\mathbf{A}_1\mathbf{A}_2$ ,  $\mathbf{A}_1\mathbf{A}_2\mathbf{A}_3 + \mathbf{A}_3\mathbf{A}_2\mathbf{A}_1$  and  $\mathbf{A}_2\mathbf{A}_3\mathbf{A}_1 + \mathbf{A}_1\mathbf{A}_3\mathbf{A}_2$  separately. Based on this idea, we have the following conjecture, which would implies (1.1) when n, m = 4.

CONJECTURE 1. For positive semi-definite matrices A, B, C, and D, the following inequality holds:

$$\|\mathbf{A}(\mathbf{B}\mathbf{C} + \mathbf{C}\mathbf{B})\mathbf{D} + \mathbf{D}(\mathbf{B}\mathbf{C} + \mathbf{C}\mathbf{B})\mathbf{A}\| \le \frac{1}{64}\|\mathbf{A} + \mathbf{B} + \mathbf{C} + \mathbf{D}\|^4.$$

While simulations seem to imply the correctness of this conjecture, the difficulty lies in the construction of an equivalent version of Lemma 2.1 for the product of four matrices.

Another interesting open conjecture is to extend the case n = m = 3 to other unitarily invariant norms. That is, can we prove that for all positive definite matrices **A**, **B** and **C**, the following inequality holds:

$$9|||\mathbf{ABC} + \mathbf{ACB} + \mathbf{BAC} + \mathbf{BCA} + \mathbf{CAB} + \mathbf{CBA}||| \le 2|||\mathbf{A} + \mathbf{B} + \mathbf{C}|||^3,$$

where  $\|\|.\|\|$  denotes every unitarily invariant norm? While the simulations seem to indicate its correctness, and the approach in this paper only applies to the operator norm.

#### REFERENCES

- R. Bhatia and Ch. Davis. More matrix forms of the arithmetic-geometric mean inequality. SIAM Journal on Matrix Analysis and Applications, 14(1):132–136, 1993.
- R. Bhatia and F. Kittaneh. On the singular values of a product of operators. SIAM Journal on Matrix Analysis and Applications, 11(2):272–277, 1990.
- [3] R. Bhatia and F. Kittaneh. Notes on matrix arithmeticgeometric mean inequalities. Linear Algebra and its Applications, 308(13):203-211, 2000.
- [4] J.C. Duchi. Commentary on "Toward a noncommutative arithmetic-geometric mean inequality: Conjectures, case-studies, and consequences". In: S. Mannor, N. Srebro, and R.C. Williamson (editors), COLT, JMLR Proceedings, 23:11.25– 11.27, 2012.
- [5] A. Israel, F. Krahmer, and R. Ward. An arithmetic-geometric mean inequality for products of three matrices. Preprint, arXiv:1411.0333, 2014.
- [6] J. Lawson and Y. Lim. Monotonic properties of the least squares mean. Mathematische Annalen, 351(2):267–279, 2011.
- [7] J.D. Lawson and Y. Lim. The geometric mean, matrices, metrics, and more. The American Mathematical Monthly, 108(9):797-812, 2001.
- [8] B. Recht and C. Ré. Beneath the valley of the noncommutative arithmetic-geometric mean inequality: conjectures, casestudies, and consequences. Preprint, arXiv:1202.4184, 2012.

287